Uji Kompetensi 1
Bab 1. Bilangan
Berpangkat

A 58 B. 56 e,
2. Hasil dari (-2) x (-2)*adalah .... *

A. (-2) B. (-2)° C. (-3)? D. (-3)
3. Hasil dari 3° : 3% adalah ....
A 3 B.9 27 D. 81
4. Hasil dari (3%)3 adalah ....
A 3 B. 36 C.6 D. 9
5. Hasil dari (2 x 3)* adalah ....
A. 8 B.27 C. 36 D.216
6. Hasil dari (a®b*)? adalah ....
A. a®b® B. alb? C. a®b® D. a’b*
7. Hasil dari 57 adalah ....
A B - C.15 D. 125
15 125
8. Hasil dari 2%3 adalah ....
AL B. - C.8 D. -8
8 8
0. Hasil dari 47 adalh ...
A 2 B. 8 Q% D%
10.  Hasil dari /48 + /12 adalah ....
A. 43 B.5V3 C.6V3 D. 73
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